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ieve these objectives, the planners formulated a

of planned economic development.

halanobis model of growth
* [twas only with the Sccond Plan that there was a
dlear enunciation of a strategy of development by Indian
planners. Prof. P.C. Mahalanobis who was the real
. chitect of the Second Plan, was responsible for
introducing a clear strategy of development based on the
Russianexperience. This strategy emphasised investment
inheavy industry to achieve industrialisation which was
assumed. to be the basic condition for rapid €conomic
development. For Jawahar Lal Nehru, the first Prime
| Minister of India, the development of heavy industry
was synonymous with industrialisation. He stated : il
we are to industrialise, it is of primary importance that
we must have the heavy industries which build
machines." Again, "there are some who argue that we
mustnot go in for heavy industry but for lighter ones. Of
course, we have to have light industries also butitis not
[ possible to industrialise the nation rapidly without
- concentrating on the basic industries which produce
industrial machines which are utlised in industrial
. “@V@!meent."” Nehru was, thus, extremely forthright
. pointing outthatindustrialisation meant development
g 7 ﬁegvy‘ industries. The Plan frame of the Second Plan
Aated this, in unequivocal terms, as follows

_"In the long run, the rate of industrialisation
e growth of the national economy would depend
ing production of coal, electricity, iron
achinery, heavy chemicals and heavy
y—which would increase the capacity
Otmation. One important aim is 0 make
t as quickly as possible of foreign
4 00ds so that the accumulation of
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- The planners justified their strategy.
economic development through rapid indus ation
(a) At the time of Independence, India was
essentially agrarian, though the country with its vast
natural and human resources was ideally suited for
industries. The planners felt that diversification of the
use of resources would be in the interest of the country
from the point of view of production, employment and
defence. Resources should, therefore be applied more
towards the development of industry rather than to
agriculture. v

(b) Indian agriculture was already sufferin
from heavy population pressure on land and produc-
tivity of labour on land was quite low--it was even
thought that marginal productivity of labour on land
might be zero and even be negative. One method of
reducing this pressure of population on land and
to raise agricultural productivity was to reduce the
percentage of people living on land, and to shift
the surplus population to industries. The setting up
and expansion of the industrial sector was thus a nec-
essary condition for raising the national product in
general and for agricultural development in particular.

(c) Rapid industrialisation was an essential
condition for the development of not only agriculture
but also for all other sectors in the country. For
instance, with the expansion of industries and the
shifting of labour from rural to urban areas, the demand
for foodgrains and agricultural raw materials (such as
cotton, jute, oil seeds, etc.) would increase. At the same
time, increased production and supply of fertilisers,
pesticides, agricultural machinery, etc. would help in
the expansion of agricultural production. With rapid
industrialisation, and with rapid expansion of markets,
there would be expansion in trade and commerce, in
ransportation, in banking and finance, ete.
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